1 THPASH AR

(EN N ER

%
B
it W IE A
WM OH R
2O &R
%
9] B A &
B5 55 B B 7
T W &
?’
%3] fa R W 1%
o ﬁ
193] =R SR S
A
0 b B F 1
?3 ® 24 Bk
is . i MBS )
iy sz wanE OFE)
& 15 4 B
% 3 N B
o1 /N B
N
f " . T > %
5 R L TV e T3
=
w3 N B
5 w1 N B
R W 2 %
o " . RSB ()
; sz & Wan (B
& O3 N B

_10_




2 YHBSIT A DB,

X5 L G H mifE ()
FTfEH
EX) AR R REAEA R | AR | AN
BEG 2V~ E
ﬁ%;[gé ME L goste o
A A8 THTE B AR
P " 1,143.62 | 2,042.98
FHEE -
MRS | w23 98 6 011,60
A (F285) B b 49. 86 226. 70
PR 2645 35
AFREE (RIEE) F7 e 45.18 120. 20
(7R PR] i Rk 445 1H
i e | P FVARBGHRAT K
R RTHG IR G & 2586 11 o 3,425. 00 584. 00 1559. 78
agwmag | TR
Bl oM Rk 64E124
FAfATHTE I, 2 FA LA T 2 iR
SR 10337 Hi 1 e 5,221. 00 822. 11 1255. 69
e FRE184E 3H

FAFTETTHBIATS - THBGE

RN ES

_11_

THBG RN TS -

KFn

Al

N

>
i




3 B\ 5 DMEDO PR PR

VAN W gf\l
1 T e AO—A%70 | —HH%7Y
- G R(E] R SRR 1% ¢ 5 7 5 7
- (1) (FF) (F1) (M) (1)
TRk 23 999, 564 819, 238 180, 326 14,578 44, 526
TRk 24 594, 751 406, 449 188, 302 8, 636 25, 790
TRk 25 518, 564 323, 081 195, 483 7,602 22, 401
TRk 26 654, 932 476, 693 178, 239 9,710 28, 201
TRk 27 966, 237 793, 969 172, 268 14, 482 41, 280
(AL 2 T-F1)
180, 326
- 172, 268
1,000, 000 bV e
900, 000 -///f
800, 000 -///f
o
700, 000 |V 178, 239
188, 302 SN
600, 000 I oy
’ 195, 483
500, 000 ////é19 2 AR
’ ’ [0 HAR P2
400, 000 -////F
300, 000 -///r 476, 6
406, 4
200, 000 -///P
323, 0
100, 000 -////_
0

RR23EFE SRR 2AMEEE SERR2GAEE SRR 264 SERR 2 TARE

_12_




CPRR28F4AH 1 HBE  HAL : A)

[T ) ; WO |V OB5| WOBE | W OB | W OB o
. i W B B HBEL | 4TER
T - PTIR, A4R| A4 |4 £ B BLE
H 9] $=3 1 1
b/ $=3 1 1
WMo B & 1 1
e} W B HE 5 4% 2 1 1
iiS
B Wb H 2 1 1
B " @ IE 1 4 1% 1 1
5 B3 E 1 1
O R 1 1
157
A B 55 % Bh 4% 1 1
e #H A % 2 1 1
S ES $=3 1 1
il S v - 1 1
197
) 5 1% 1 1
! fo B W 1% 1 1
/I 3 17 1 4 7 1 2 1 1
E R (1) (1)
Blom B R (1)
i % 1 B 16 1 1 5 4 5
I
1 % o2 N B 16 1 1 5 5 4
Is
i % H 3 B 15 1 1 5 6 2
/N 2 47 3 3 15 15 11
=z E 1 1
& BOE R (1)
1 N B 8 1 1 2 3 1
5] R
w2 N B% 8 1 1 2 2 2
= % 3 N B 8 1 1 2 3 1
/N 2 25 1 3 3 6 8 4
Z $=3 1 1
K -
= Bl & R (1)
i %1 B 5 1 1 1 2
S w2 B 5 1 1 1 1 1
. 3 B 5 1 1 1 1 1
£
/N 3 16 1 3 3 3 4 2
& 3 105 1 6 16 9 25 29 18 1
X () 1 ETRE sfth14 GEBEILE) MAaETRERICHm

_13_




=

5 kB PSRtk T

CPRR284F4H 1 HHAE B 0 )

(. 4 M= 7T = T 7 = B 7 = I 7 M B 977
i W B s YHBE | 4T B
o AAR| A A WA kR R R
5 105 1 6 16 9 25 29 18 1
SEO¥ E e 35.2 57.0 54. 8 48. 7 42.6 35.2 28.8 21.3 49
1 8 ik ~ 2 0 % 4 4
2 1 % ~ 2 5 % 14 14
2 6 % ~ 3 0 % 22 22
3 1 % ~ 3 5 23 16 7
3 6 % ~ 4 0 % 9 9
4 1 % ~ 4 5 % 8 8
4 6 ® ~ 5 0 % 13 11 1 1
5 1 % ~ 5 5 8 4 4
5 6 mk MLE 4 1 2 1
6 Wk B B ACRI
' CER 28447 L HBAE  BAL : A)
[ - S ¥ B ¥ b5 1] T BA M P,
O T T8 By e 24 A4k | LR AL E WE £ | ATEC
B FE K 13.3 0.0 34.2 29.0 22.4 12.2 6.3 2.1 2.0
7 105 6 16 9 25 29 18 1
L4E R 15 4 3
LA B~ 54E R 21 7 13 1
54E L _E ~ 104F i 27 5 20 2
LO4E L b ~ 154 A i 16 14 2
154F LL |~ 204F K1l 6 1 5
204F DL _E ~ 254F A il 11 3 7 1
254F L | ~ 304F K1l 5 4 1
304ELL | 15 6 9

_14_




RN N 7 B Y
7 BB OFRREEE « & OB RS BRI
(D 1)
7 s s = . . 14 B 14 Bh ¥ Bh 14 B 4 Bh .
PERRBISFE - B G WU | Sxe | me | Sam | +E | @ltg | PE
PNAEE R G ) 96 6 16 9 25 28 12
g
i WiE Y BhE e (1) 104 6 16 9 25 29 18
18
B R a B 29 3 5 2 7 4 1
e
i A Bl Er 6 3 2 1
HfE 1% 4 1 2 1
HfE %28 2 1 1
HfE % 3% 2 1 1
HfE 4% 5 1 3 1
L WM 5 3 1 1 1
1
193]
#OHE % oM 1 1
i
+
ZFE 1M 2 1 1
ZF 3% 1 1
ZHE FAM 5 1 3 1
ZF 5 1 1
ZFE 6% 18 2 2 2 5 7
FA 6 1 3 1 1
oH H 1M 3 1 2
i ZFE E2M 3 1 2
%
% Pavand *
w o Cf 3 5 1 1 3
£
T oM FAMW 90 5 11 6 25 29 14
ZF 5 3 1 2
CHE 6% 4 1 1 2

_15_




(Fd2)

BEARBISR T - B i 171 L G GO N B 5 B 1] RS
MR AR R 2 2
pi
53
b B Tk bR R AR 15 5 7 3
o5 = A L R A R 72 2 1 22 29 18
Beadidr+ 32 3 7 1 13 7 1
SERFE GRE) 16 2 7 1 4 2
Z EHRE (Bek) 32 3 7 1 13 7 1
% MESEA (6 29 7 1 13 7 1
BaR (i) 76 4 8 23 24 17
B TR 19 6 12 1
’J‘ziéz%;;%é”‘/ 97 6 14 9 25 28 15
TS 99 6 16 9 25 28 15
N B 13 1 3 1 7 1
okt 70 2 7 4 19 28 10
Tl — - S A A 37 4 2 13 16 9
U =R I T LA R e 23 | 2 10 9 1
AT N s R 24 1 3 8 12
BT B K L R 16 7 2 6 1
B o 75 22 40 1 2 16 19 3
SES RN % VB A 3% i 10 1 3 6
fe R4 10 5 5

_16_



8 Ik BHESZ IR

X 53 Rk 244 BE | SRR 264E BE | LR 264 BE | LR 2TAE B | SRR 284F FE
& 2 1
B g2t 1 1
T % 193] gk
193]
x R =1 B
o
B 5 B £
1 53 L) s 1
EH X & E R #E Y 1
£ g2 4 5 7 4 3
R Bh =S 2 2 2 2 2
= E KB a3 — X 1 1
4 53] & 2 2 2 1
g j‘j: ﬁ ‘(<< '—'3:"5‘
b BBk 5 At
S
?i@ =5 ¥ B & £ B 2 1
=)
4 f B B R 1 1
B
g % W oA B 1 2
S A B 4 6 6 3 3
i S = 1 1
oo R 1 1
i S = xR I
who% &' B M & 2 2 2 2 2
= # R & 1 1
B2 & M B & FT B & 1 1 3 3 2
R AR Ay AL E A KB N R 2 4

_17_




